www.mekoautoindia.com PRICE LIST
w.e.f. 16th March, 2022

IMEKD

GENUINE SPARES

UNIVERSAL JOINT CROSS, STEERING & SUSPENSION PARTS
AND CENTER BEARINGS

A SURINDER RAWAL PRODUCTS
A QUALITY PRODUCT PERSON FOR THE LAST 40 YEARS




From the desk of the CEO

Some of the finest moments in the life of a
product happen when it is acknowledged for
exceeding its genre itself.

Meko has experienced this brush with
excellence not once but many a time.

| attribute this rare accomplishment to the
team spirit which pervades across all the
sections of Meko's activities... manufacturing,
quality management, marketing and customer
management.

When quality becomes a habit, you simply
can't go wrong.

| congratulate my colleagues and work staff for
having taken Meko where it is today and for
keeping their eyes in the horizon where they
can see the rise of a new market leader..

Shivas Rawal, The face behind the Continuous
Quality Improvement and Success Sustainability
of MEKO for the last 10 years.

With best wishes,
Surinder Rawal
CEO



~mthe race of
there is no finishing line.”

Sy

v —e s

“The ultimate cannot be-achieued 'ihfthe‘ q'u'éSf _for 9
quality ...as there isno end to uvalue additibn.”#

MEKD"

- GENUINE SPARES

<




MMEKS m
EXS Index s
GENUINE SPARES Signature of Quality

UNIVERSAL JOINT CROSS 01-02

STEERING & SUSPENSION PARTS
REPAIR KITS - TIE ROD / DRAG LINK ENDS
HEAVY COMMERCIAL VEHICLES

TATA 1210 /1312 /1612 04
TATA PRIMA / TATA LPT 2518 / 62 / 3138, LPT 3718 04
TATA ULTRA TRUCK AND BUS / SIGNA 05
LEYLAND 370 05
LEYLAND 2516, 3516 N/M 05
LEYLAND 3116 06
LEYLAND CARGO 709 / CARGO 909 / JUMBO 20.16 06
AMW TRUCK 06
BHARAT BENZ 06
FORCE MAN TRUCK 06-07
COMBINE HARVESTER 07
TATA 407 / TATA 407 TURBO 07
TATA 608 07
TATA 609 /709 / 909 / 709, 909 EX TURBO 08
TATA 712 N/M 08
TATA ACE / TATA ACE MAGIC 08
TATA ACE MEGA ( DICOR ENG.) 08
TATA VENTURE / SUPER ACE 08
TATA IRIS/ ZIP ( MINI TRUCK) 09
LEYLAND DOST 09
LEYLAND PARTNER 09
LEYLAND BOSS 09
SWARAJ MAZDA 09
EICHER CANTER (10.50 TO 10.95) / CANTER 11.10 09
MAHINDRA ALLWYN NISSAN ( CABSTAR) 09
MAHINDRA JEEP / ARMADA / MARSHAL / UTILITY / PICK UP / 10
COMMANDER / MAX / MARSHAL TURBO

MAHINDRA BOLERO 10
MAHINDRA TOURISTER 10
MAHINDRA MAXIMO O/M / SUPRO MINI TRUCK / MAXIMO N/M 10
MAHINDRA JEETO 1
MAHINDRA SCORPIO n
MAHINDRA XYLO / GENIO 1
MATADOR MAX / TRAX / JUDO GAMA n

TEMPO TRAX 1




MMEKS m
EXS Index s
GENUINE SPARES Signature of Quality

STEERING & SUSPENSION PARTS 03-18
JEEP / MULTI UTILITY VEHICLES AND PASSENGER CARS 10 - 14
TEMPO TRAVELLER Ll
TATA 207 DI / TATA 207 DI RX Ll
TATA SUMO, MOBILE 206, 206 DI, 207, SIERRA, ESTATE, SPACIO 12
TATA SUMO VICTA 12
TATA SUMO GOLD 12
TATA SAFARI 12
TATA XENON 12
TATA INDICA 12
TATA INDIGO 12
TATA WINGER 13
CHEVORLET TAVERA* 13
TOYOTA INNOVA 13
TOYOTA QUALIS 13
MARUTI GYPSY 13
MARUTI 800 N/M 13
MARUTI VAN 800 / OMNI 13
MARUTI VERSA / EECO 13
MARUTI ZEN / ALTO / WAGON R 14
MARUTI 1000 CC / ESTEEM 14
MARUTI SWIFT 14
MARUTI SWIFT N/M 14
HYUNDAI SANTRO 14
HYUNDAI VERNA 14
AMBASSADOR / NOVA 14
MAHINDRA & MAHINDRA 15
SWARAJ 15
MASSEY FERGUSON 16
FORD / FARMTRAC / NEW HOLLAND 16
ZETOR 16
SONALIKA 17
EICHER 17
INDOFARM 17
PREET TRACTOR 17
SAME GREAVES 17
ESCORT / FARMTRAC / POWER TRAC 18
L & T JOHNDEERE 18
BAJAJ FORCE TEMPO TRACTOR 18
MITSUBISHI TRACTOR 18

ASSEMBLIES CENTER BEARING 19




IMEKD

GENUINE SPARES

UNIVERSAL JOINT CROSS

Signature of Quality

S. No.

01
02
03
04
05
06

07
08

23
24
25
26

N
~

28

29
30
31
32
33

PART No.
M-8851

M-8851 B
M-8855
M-8855 A
M-8854
M-8854 A

M-8857
M-8857 A
M-8845
M-8845 A
M-8845 B
M-8826

M-8532

M-8836

M-8821
M-8876

HEAVY COMMERCIAL VEHICLES

CUP

LOCK

M-8604
M-8606

M-8647 B
M-8647 C
M-8647 D

M-8862

M-8862 A
M-8620
M-8636
M-8639

M-8808

DESCRIPTION DIA SIZE MRP

TATA 1210, 608, 609, 807, 407 N/M REAR 3805 | 57 [JEN

TATA 1210, 608, 609, 807, 407 N/M REAR ( SELF LUBRICATING WITH OIL SEALS 3805 | 57

TATA 1312, 1516, 1510, 1612, 2213, 2416  TURBO ) 2515 TC (X 4605 | 69 Y

TATA 1312, 1516, 1510, 1612, 2213, 2416 (TURBO ) 2515 TC ( EX) ( SELF LUBRICATING | 4605 | & KB

TATA 2515 TC  EX ), TATA 1613 EURO-2, TATA 2518 EX N/M 4205 | 120 [RBR

TATA 2515 TC ( EX ) REAR, TATA 2214, EICHER GALAXY 3025 LEYLAND 3516,2516 ( BURFI TYPE) | 4128 | 126

( MODEL 2000 ONWARDS WITH DANA SPICER'S SHAFT )

TATA 4018 ( OUTER LOCK TYPE WITH CIRCLIP ), RSB TYPE, TATA 3118 4802 | 135

TATA 4018 { WITH PATTI WELDING ), AMW FRONT, MAHINDRA NAVISTAR 492 | 1545

TATA 1613 TURBO, 2515 HYWA RSB TYPE ( HYWA ) 205 | 194 Y

TATA4923 ; LPK 3118, LPK 2521, LPK 2518 57 | 152

TATA 4928 S-PRIMA, VOLVO SM 7, SM 9, VOLVO 400 IR 2209

LEYLAND TAURAS 3516, 2516 LOCK TYPE, TATA PRIMA 3123, BHARAT BENZ 2523, 4028 AMW 2523, | 47.64 | 135 [RIIE

EICHER, MAN 26.28, MAHINDRA BLAZO { TAURAS )

LEYLAND HINO, LEYLAND TUSKER ( MSI TYPE ), TATA 1612 ( DANA TATA 909 EX BS-3 SPICER SHAFT), | 3494 | 126 [

EICHER TRUCK 20.16 JUMBO { TUSKER )

LEYLAND HIPPO 8" FLANGE LOCK TYPE 49.2 | 1545

LEYLAND 370 COMET ( XLO TYPE ), BEDFORD J-4, SHAKTIMAN N/M 3972 | 1156

AMW ( TRUCK ) ( OUTER LOCK TYPE) 57 14 [B5E
AMW ( TRUCK ) / MAN TRUCK 52 | 133

J.CB. - 30K, TATA 1109 ( EX), TATA 407 PICK UP 35 | 106

LIGHT COMMERCIAL VEHICLES

TATA 407, TATA MOBILE 206, SIERRA, ESTATE, SUMO 3005 | 81.75

DCM TOYOTA N/M, CITY RIDE, TATA 407 TURBO N/M FRONT, MAHINDRA DI 3200, CHEVROLET FORD, | 3020 | 92.00 m

TEMPO TRAVELLER, XYLO, MAHINDRA HAWK

SWARAJ MAZDA, GMC, CANTER N/M, CANTER 10.75, 1090, 11.10; 11.90 NISSAN 1 TON N/M, 3020 | 10630 A

L/L IVECO CARGO 709, 909; TATA 407 TURBO REAR, CAB KING MAHINDRA, L/L COMET JUNIOR

MATADOR N/M SMALL F-305, F-307 MAX, TEMPO TRAX N/M, MINIDOR FORCE ( OUTER SIDELOCK) | 3003 | 81.75 [T

CROSS COUNTRY VEHICLES

TATA ACE ( MINI TRUCK 18 | 3525 B
TATA ACE N/M MAGIC 2 | 548

TATA ACE SUPER EX ( OUTER LOCK ) 2385 | 595

TATAACE MINT ( OUTER LOCK 2% | 869 BT

TATA ACE MEGA / INTRA 2501 | 6375

JEEP DIESEL, MARSHAL, COMMANDER, UTILITY, PICK UP SCORPIO, BOLERO, MAXIMO, LEY. DOST,

TATA SUMO N/M, TATA 407 TURBO FRONT, XENON, 207 DI, FORCE CRUISER ( SPICER TYPE ), 2701 | 8175 [ER

TELCOLINE, VENTURE, SUPER ACE, SUPER ACE BS2, ACE DECOR

JEEP DIESEL, MARSHAL, COMMANDER, PICK UR SCORPIO, BOLERO ( SELF LUBRICATING ) | 27.01 | 81.75

MARUTI GYPSY ( OUTER SIDE LOCK ) 2501 | 6375

TOYOTA QUALIS, INNOVA 29 | 473

CHEVROLET TAWERA 29 | 4

JEEP FRONT AXLE ( INNER LOCK ) 27.01 | 526

m *Disclaimer

MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




Signature of Quality

ITLEKD UNIVERSAL JOINT CROSS

GENUINE SPARES

PASSENGER CARS
S. No. | PART No. DESCRIPTION U | 95X | MRP

34 MARUTI VAN ( INNER SIDE LOCK 25 | 405
35 [[MIZEJMM AVBASSADOR, TRAKKER, CONTESSA OLD, LEYLAND-STEERING N/M, PREMIER 118 NE, OMNIVAN, | 2385 | 612 [0
CONTESSA CLASSIC, NOVA ( OUTER SIDE LOCK

AGRICULTURE AND CONSTRUCTION MACHINERY

E 1-8810 MAHINDRA ROTAVATOR 35 94

=1

*Disclaimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality

X - BALL PIN HEAD SIZE | Y - BALL PIN THREAD SIZE | Z - NUT SIZE
REPAIRKITS - TIE ROD / DRAG LINK ENDS

( ALL REPAIR KITS LISTED BELOW FOR YOUR CONVENIENCE)

oo NG, [repam KT | oescuetion | x ¥ | Z Juw]
(I M-8051 AN TATA 1210, 1510, 1516, 1612, 2213, 2416 (TURBO) N/ (M 24 * 1.5) 30 | MI18¥15 | 27 | 606
- (BOTH SMALL BALL PINS )
02 WIS DRAG LINK TATA 1210, 1510, 1516, 1612 ( M 24 * 15) 30/35| M18*15 | 27 | 688
- ( ONE SMALL BALL PIN + ONE BIG BALL PIN)
03 [ETROEETRN DRAG LINK TATA 1312, 1616, 2213, 2416 TURBO ( M 24 * 1.5 ) ( BOTH BIG BALL PINS ) 35 M8 15 27 | 713
04 |IEOVERTRY ric roD TATA PRINA 2518 BEND TYPE (M 33°1.5)/ LX4028 STRAIGHT TYPE (M30*15) 40 | M24*15 | 41 | 895
el -s021 ¢ RN LEYLAND 370 32 5/8"14TPI 1206
" M-50226 QD TATA ULTRA TRUCK / BUS LP 9.6T/47 / 1014 ALL MODEL ( M30* 15) 30 | MI8¥15 | 27 | 825
07 |7 e roD TATA 3718 N/M / SIGNA 4930 / NAVISTAR MN 25,3140 (THICKBR ) (M30*15) | 40 | M24*15 | 36 | 1238
08 [ETRERVRYVI DRAG LINK 3118 EX HEAVY THREAD ( THIN BALL PIN ) (M 30 *15) 40 | M20*15 | 30 | 1238
O M-5026D QD LEYLAND 2516, 3516, TATA 2515 EX (M 24 *15) 35 | MI18¥15 | 30 | 762
10 [EIVZYGN TIE ROD / DRAG LINK | CARGO709 (M 24+ 15) 30 | MI18¥15 | 27 | 606
I m-c008C D CARGO 909 / LEYLAND 2214 / EICHER JUMBO 20.16 ( M 30 * 1.5) 35 | M20*15 | 30 | 856
Pl m-80760 D AMW N/ (M 36 *15) 38 | M22*15 | 32 | 1038
13 [EIVZAEH e Roo AW O/M (M30*15) 40 | M24*15 | 41 | 1000
14 |[QUEIN TiE ROD / DRAG LINK | TATA 407/ TATA 410 PICKUP/ TATA 407 TURBO 2% | M12*15 | 19 | 538
15 | e Rop TATA 608 (M 20*15) 2% | M14*15 | 22 | 594
[ m-s0046 D TATA 609 (120 15) 2 | M16*15 | 24 | 613
A M-5004K LTS TATA 609, 709, SFC, LP TATA TYPE ( SINGLE BALL PIN) (M20*15) 30 | M14¥15 | 22 | 342
18 [TEETTYA DRAG LINK TATA 609, 709, SFC, LP TATA TYPE COMPLETE (M 20 *15) 30 | MI4*15 | 22 | 800
- (M5004 K KIT + 1PCTRE TATA 608 RH SEALED TYPE)
EN M-60068  RIEED SWARAJ MAZDA N/M (M 18*15 ) 2% | M16*15 | 24 | 666
2 DRAG LINK SWARAJ MAZDA WITH BOOT 30 | M1615 | 4 | 726
il n-6007D RN EICHER CANTER N/M 30 | M14*15 | 22 | 606
22 |[OEY NN TIE ROD / DRAG LINK | EICHER CANTER 11.10 (M20*15) 30 | MI8*15 | 27 | 619
23 |[ROETI raG LNk MAHINDRA TOURISTER 15/25 SEATER (M 22 *15) 30 | M16*15 | 24 | 509
24 |[IEDIEY TiE RoD/DRAG LINK | SWARAJP/S 28 | M18*15 | 27 | 416
25 |EL7ZIN e RoD INDOFARM M18*15 | 27 | 429
i n-s028 R SONALIKA POW. STG. (245/26 /28 MM) 28 | M16*15 | 24 | 367

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISClalmer pnpTrRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z- SPANNER SIZE

HEAVY COMMERCIAL VEHICLES
TATA*

TATA 1210 / 1312 / 1612

|
DESCRIPTION X Y | z [unm|mre

(1 M-8051 TR REPAIR KIT N/M TATA 1210, 1510, 1516, 1612, 2213, 2416 (TURBO) (BOTH SMALLBALLPINS) | N/A M18*15 | 27 | KIT | 606

S. NO.| PART NO.

14 WUESCY MM GEAR SHIFTER END TATA 609 /709  INNER THREAD) (RH + RH) M12*1.25 M10*1.25 17 | PAIR | 488
15 WTRI0YE:IM GEAR SHIFTER END TATA 609 /709 (INNER THREAD) (LH + LH) M12*1.25 M10*1.25 17 | PAIR | 488
16 JUEISTYNM DRAG LINK END TATA 1616,2416, 2516, 3516, 2213, 2515 EX (THREAD28*15) (RH) | M28*15 | M18*15 | 27 |EACH 968
(/A M-8054 B
[ M-8054 C
[EA M-8054D
VIl M-8054 F

DRAG LINK END TATA 1616,2416, 2516, 3516, 2213, 2515 EX ( THREAD 28 *1.5) (LH) M28*15 | M18*1.5 | 27 |EACH| 968

DRAG LINK END TATA 1616,2416, 2516, 3516, 2213, 2515 EX ( THREAD 30 *1.5) (RH) M30*15 | M18*1.5 | 27 |EACH| 968

DRAG LINK END TATA 1616,2416, 2516, 3516, 2213, 2515 EX ( THREAD 30 *1.5) ( LH) M30*1.5 | M18*1.5 | 27 |EACH 968

TIE ROD END TATA 1616,2416,2516,3516,2515 EX ( THREAD 30*1.5) (RH + LH ) M30*15 | M18*1.5 | 27 | PAIR | 1938
TATA PRIMA / TATA LPT 2518 / 62 / LPT 3138, LPT 3718

TRE TATA LPT 2518/ 62 TCBS 3/ PRIMA BEND TYPE COWL BODY SEALEDTYPE (LH +RH)| M38*1.5 | M24*15 | 41 | PAIR | 4054

02 DL REPAIR KIT TATA 1210, 1510, 1516, 1612 ( ONE SMALL + ONE BIG BALL PIN ) NA | MI18¥15 | 27 | KIT | 688
03 DL REPAIR KIT TATA 1312, 1616, 2213, 2416 TURBO ( BOTH BIG BALL PINS ) NA | MI8*15 | 27 | KIT | 713
04 TIE ROD END TATA 1210, 1312, 1510, 1612, 2213, 2416 (TURBO), 1109 (LH + RH) M24*15 | M18*15 | 27 | PAIR | 1416
05 TIE ROD END TATA 1210, 1312, 1510, 1612, 2213, 2416 (TURBO), 1109 (RH + RH ) M24*15 | M18*15 | 27 | PAIR | 1416
06 TIE ROD END TATA 1210, 1312, 1510, 1612, 2213, 2416 (TURBO), 1109 (LH+LH) | M24*15 | M18*15 | 27 |PAR | 1416
07 GEAR LEVER END GB 40 (WITH NUT) (LH + RH) MI18*15 | M12*15 19 |PAIR| 660
08 GEAR LEVER END GB 40 (WITH NUT) (LH + LH) M18*15 | M12*15 | 19 | PAIR | 660
09 GEAR LEVER END GB 40 (WITHNUT) (RH + RH) M18*15 | M12*15 19 |PAIR| 660
10 GEAR LEVER END GB 40 LONG, TATA 1516 LONG (RH) MI8*15 | M12*15 | 19 |EACH 348
1 GEAR LEVER END GB 40 LONG, TATA 1516 LONG (LH) M18*15 | M12*15 | 19 |EACH| 348
12 GEAR LEVER END GB 40 LONG, TATA 1516 LONG (RH + RH ) M18*15 | M12*15 | 19 | PAR | 696
13 GEAR SHIFTER END TATA 609/709 (INNERTHREAD) (RH + LH) M12%1.25 M10*1.25 17 |PAR | 488

| M5004A |

| M-504B

| M-8054A

| M-80548 |

 M-8054C

| M-8054D |

/Al M-8045 A

I

7 TRE TATA LPT 2518 / 62 TC BS 3 / PRIMA BEND TYPE COWL BODY SEALEDTYPE (LH) M38*15 | M24*15 | 41 |EACH | 2027
3 TRE TATA LPT 2518 / 62 TC BS 3/ PRIMA BEND TYPE COWL BODY SEALEDTYPE (RH ) M38*15 | M24*15 | 41 |EACH | 2027
1 TRE TATA LPT 2518/ 62 TC BS 3/ PRIMA BEND TYPE COWLBODY PLUGTYPE(LH + RH) | M38*15 | M24*15 | 41 | PAIR | 4654
2% TRE TATA LPT 2518/ 62 TC BS 3/ PRIMA BEND TYPE COWL BODY PLUG TYPE (LH) M38*15 | M24*15 | 41 |EACH 2327
% TRE TATA LPT 2518/ 62 TC BS 3/ PRIMA BEND TYPE COWL BODY PLUG TYPE (RH) M38*15 | M24*15 | 41 |EACH 2327
27 TRE TATA LPT 2518 TC / PRIMA 2528K / PRIMA LX 4028 STRAIGHT SEALED TYPE (LH + RH) | M30*15 | M24*15 | 41 |PAR | 2212
28 TRE TATA LPT 2518 TC/ PRIMA 2526K / PRIMA LX 4028 STRAIGHT SEALED TYPE (LH M30*15 | M24*15 | 41 |EACH 1106
2 TRE TATA LPT 2518 TC/ PRIMA 2528K / PRIMA LX 4028 STRAIGHT SEALED TYPE (RH ) M30*15 | M24*15 | 41 |EACH 1106
30 TRE TATA LPT 2518 TC / PRIMA 2528K / PRIMA LX 4028 STRAIGHT PLUG TYPE (LH +RH) | M30*15 | M24*15 | 41 | PAIR | 2693
31 TRE TATA LPT 2518 TC / PRIMA 2528K / PRIMA LX 4028 STRAIGHT PLUG TYPE (LH M30*15 | M24*15 | 41 |EACH 1346
1 TRE TATA LPT 2518 TC / PRIMA 2528K / PRIMA LX 4028 STRAIGHT PLUG TYPE (RH ) M30*15 | M24*15 | 41 |EACH | 1346
33 TIE ROD REPAIR KT TATA PRIMA ( SUITABLE FOR M-8045 D & W-8045 J) NA | M24%15 | 41 | KIT | 895
M-8045N |

34 RUSIZSRVM HYDRAULIC CYLINDER END INNER THREAD TATA PRIMA 3128 K, LX 3123, LPK 3118 (RH) M26*15 | M20*1.5 | NA |EACH | 1352

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z- SPANNER SIZE

HEAVY COMMERCIAL VEHICLES
TATA*

TATA ULTRA TRUCK AND BUS / SIGNA |

DESCRIPTION X Y | z [uNmT|mRP

35  QUES{UZ¥Z N TRE TATA ULTRA TRUCK / BUS LP 9.6T/47 / 1014 ALL MODEL SEALED TYPE (RH + LH) | M30*15 | M18*15 | 27 |PARR 1279

S. NO.| PART NO.

36 TRE TATA ULTRA TRUCK / BUS LP 9.6T/47 / 1014 ALL MODEL SEALED TYPE (LH) M30*15  M18*15 | 27 [EACH | 640
37 TRE TATA ULTRA TRUCK / BUS LP 9.6T/47 / 1014 ALL MODEL SEALED TYPE (RH ) M30*15 | M18*15 | 27 [EACH | 640
38 TRE TATA ULTRA TRUCK / BUS LP 9.67/47 / 1014 ALL MODEL PLUG TYPE (RH+LH) | M30*15 | M18*15 | 27 |PAIR 1664
39 TRE TATA ULTRA TRUCK / BUS LP 9.67/47 /1014 ALL MODEL PLUG TYPE (LH) M30*15 | M18*15 | 27 [EACH 832
4 TRE TATA ULTRA TRUCK / BUS LP 9.6T/47 / 1014 ALL MODEL PLUG TYPE (RH) M30*15 | M18*15 | 27 [EACH | 832
4 TR REPAIR KIT TATA ULTRA TRUCK / BUS LP 9.67/47 /1014 ALL MODEL (M 30* 1.5 NA M85 | 27 |KIT | 825
£ TRE TATA 3718 NM / SIGNA 4930 / NAVISTAR N 25,3140 SEALEDTYPE (LH+RH) | M30*15 | M24*15 | 36 |PAR 2635
23 TRE TATA 3718 NM / SIGNA 4930 / NAVISTAR MN 25,31 40 SEALED TYPE (LH) M30*15 | M24*15 | 36 [EACH 1359
4 TRE TATA 3718 NM / SIGNA 4930 / NAVISTAR MN 25,31,40 SEALED TYPE (RH) M30*15 | M24*15 | 36 [EACH 1359
4 TRE TATA 3718 NM / SIGNA 4930 / NAVISTAR MN 25,3140 PLUGTYPE (LH + RH) | M30*15 | M24*15 | 3 |PAIR 3238
4 TRE TATA 3718 NM/ SIGNA 4930 / NAVISTAR MN 25,31,40 PLUG TYPE ( LH) M30*15 | M24*15 | 36 [EACH 1619
4 TRE TATA 3718 NM / SIGNA 4930 / NAVISTAR MN 25,3140 PLUG TYPE (RH ) M30*15 | M24*15 | 36 [EACH 1619
4 TR REPAIR KIT TATA 3718 NM / SIGNA 4930/ NAVISTAR MN 25,31,40 (30 15) NA  M24*15 | 36 | KIT 1238
4 DL END 3118 EX HEAVY THREAD  THIN BALL PIN ) SEALED TYPE ( LH + RH ) M30*15  M20*15 | 30 PAR 2305
50 DL END 3118 EX HEAVY THREAD ( THIN BALL PIN ) SEALED TYPE (LH M30*15 | M20*15 | 30 [EACH 1153
51 DL END 3118 EX HEAVY THREAD ( THIN BALL PIN ) SEALED TYPE (RH) M30*15 | M20*15 | 30 [EACH 1153
52 DL END 3118 EX HEAVY THREAD ( THIN BALL PIN ) PLUG TYPE ( LH + RH) M30*1.5 | M20*15 | 30 |PAIR 12800
53 DL END 3118 EX HEAVY THREAD ( THIN BALL PIN ) PLUG TYPE ( LH) M30*15 | M20*15 | 30 [EACH 1400
54 DL END 3118 EX HEAVY THREAD (THIN BALL PIN ) PLUG TYPE (RH M30*15 | M20*15 | 30 EACH 1400
55 DL REPAIR KIT 3118 EX HEAVY THREAD ( THIN BALL PIN ) (M 30* 15) NA  M20*15 | 30 | KIT 1238
56 |TESVPXTI ouen0 TATA ULTRA TRUCK /BUS (1518/TC/52BS 4 LPK2518TC40°15) (RH) | M40*15 | M24°15 | 36 EACH |1530
LEYLAND*
LEYLAND 370
57 TIE ROD SOCKET LEYLAND COMET 370 COMPLETE PLUG TYPE (RH ) 1"Y/8*12TP1 5/8"*14TPI |25/26 |EACH 1644
58 TIE ROD SOCKET LEYLAND COMET 370 COMPLETE PLUG TYPE (LH) 1"3/8*12TPI 5/8"14TPI |25/26 EACH 1644
59 TIE ROD END REPAIR KIT NA  5/8"14TPI |25/26 | KIT 1206
60 GEAR LEVER END LONG ( ZF GEAR BOX) OUTER THREAD M14*15 | M14*10 | 17 EACH | 359
61 GEAR LEVER END SMALL ( ZF GEAR BOX ), VECO 709, 909 INNER THREAD (RH ) M14*15 | M14*10 | 17 EACH | 252
62 GEAR LEVER END SMALL ( ZF GEAR BOX ), VECO 709, 909 INNER THREAD (LH) M14*15 | M14*10 | 17 EACH | 252
63 [TRUVAN BaLLJoiNT 2F GEAR BOX 17 EACH | 321
| LEYLAND 2516 , 3516 N/M
64 |TRIVTYNIN 1ic ROD END LEVLAND 2516, 3516 N/M , TATA 2515 EX PLUG TYPE (LH -+ RH) M24*15 |M18*1.5]27/30 |PAIR 2058
65 TIE ROD END LEYLAND 2516, 3516 N/M , TATA 2515 EX_PLUG TYPE (LH) M24*15 | M18*1.5 |27/30 EACH 1030
66 TIE ROD END LEYLAND 2516, 3516 N/M , TATA 2515 EX PLUG TYPE (RH) M24*15 | M18*15 27/30 EACH 1030
67 TIE ROD END REPAIR KIT LEYLAND 2516, 3516, TATA 2515 EX NA  M18*15 30 KT | 762
68 TIE ROD END LEYLAND 2516,/3516 N/M PLUG TYPE (LH + RH) M30*1.5 | M18*1.5| 27 |PAIR 2039
69 TIE ROD END LEYLAND 2516,/3516 N/M PLUG TYPE (LH) M30*15 M18*15| 27 [EACH 1020
70 TIE ROD END LEYLAND 2516 /3516 N/M PLUG TYPE (RH ) M30*15 |M18*15| 27 [EACH 1020

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISClalmer pnpTrRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z- SPANNER SIZE

HEAVY COMMERCIAL VEHICLES
LEYLAND*

LEYLAND 3116

DESCRIPTION X Y Z |UNIT|MRP

BALL JOINT / TRE ( HYDRAULIC CYL. ) LEY. 3116 / EICHER INNER THREAD SEALEDTYPE | M30*1.5 |M20*1.0| 30 |EACH | 1347
LEYLAND CARGO 709 / CARGO 909 / JUMBO 20.16 |

TRE CARGO 709 / LEY. ECOMET 912, 1012 ALL MODELS, LEY STAG PLUG TYPE (LH +RH) | M24*15 'M18*15, 27 | PAIR | 1416

TRE CARGO 709 / LEY. ECOMET 912, 1012 ALL MODELS, LEY STAG PLUG TYPE (LH) M24*15 |M18*15 27 EACH| 708

TRE CARGO 709 / LEY, ECOMET 912, 1012 ALL MODELS, LEY STAG PLUG TYPE (RH) M24*15 |M18*15 | 27 EACH| 708

TIE ROD / DRAG LINK KIT CARGO 709 M18*15| 27 | KIT = 606

TRE LEYLAND IVECO 909 / EICHER JUMBO 20.16 / L/L LYNX, 2515, 3516 N/M, M30*1.5 |M20*1.5 30 | PAIR | 2058

ECOMET 1112 ALL MODEL / EICHER PRO 1112, 11.14 PLUG TYPE (LH + RH)

TRE LEYLAND IVECO 909 / EICHER JUMBO 20.16 / L/L LYNX, 2515, 3516 N/M, M30*15 |M20*1.5| 30 |EACH| 1030

ECOMET 1112 ALL MODEL / EICHER PRO 1112, 11.14 PLUG TYPE (LH)

78 EUEDNEE:M TRE LEYLAND IVECO 909 / EICHER JUMBO 20.16 / L/L LYNX, 2515, 3516 N/M, M30*1.5 'M20*1.5| 30 EACH| 1030

ECOMET 1112 ALL MODEL / EICHER PRO 1112, 11.14 PLUG TYPE (RH)

S. NO.| PART NO.
AN M-8022

/A M-5024
AR M-5024 A
L M-5024 B
JER M-5024 C
[ M-6008

/7 M-6008 A

79 |ZUCTR TiEROD / DRAG LINK KIT CARGO 909 LEYLAND 2214 EICHER JUMBO 20.16 N/A | M20*15) 30 | KIT | 856
AMW TRUCK *
80 TRE AMW N/M (M 36X 1.5) PLUG TYPE (LH + RH) M36*15 | M22*15 | 32 |PAIR | 2807
81 TRE AMW N/M (M 36X 1.5) PLUG TYPE (LH) M36*15 | M22*15 | 32 | EACH | 1404
82 TRE AMW N/M (M 36X 1.5) PLUG TYPE (RH ) M36*15 | M22*15 | 32 | EACH| 1404
83 TIE ROD REPAIR KIT AMW N/M. (M 36*15) N/A | M22%15 | 32 | KIT | 1038
84 TREAMW (M30X15) PLUG TYPE (LH -+ RH) M30*15 | M24*15 | 41 | PAIR | 2441
85 TREAMW (M30X15) PLUG TYPE (LH) M30*15 | M24*15 | 41 | EACH 1220
86 TREAMW (M30X15) PLUG TYPE (RH) M30*1.5 | M24*15 | 41 | EACH 1220
87 TIE ROD OR DRAG LINK REPAIR KIT AMW O/M (M 30 * 15 ) M24*15 | 41 | KIT | 1000
88 GEAR LEVER END AMW N/M (M 10X 1.0, INNER THREAD ) (RH ) M12*1.25 M10*1.0 | 17 |EACH 346
89 GEAR LEVER END AMW N/M (M 10X 1.0, 30 DEGREE) (RH ) M10*1.0 | M10*1.0 | 17 |EACH 272
90 GEAR LEVER END AMW N/M (M 10X 1.0, 30 DEGREE ) (LH) M10%1.0 | M10*1.0 | 17 |EACH 272
91 GEAR LEVER END AMW N/M (M 10X 1.0,30 DEGREE) (LH + RH ) M10*1.0 | M10*1.0 | 17 |PAIR | 546
92 |[TNVZITI GEAR LEVER END AMW OUTER THREAD M14*15 | M14*10 | 17 |EACH| 358
BHARAT BENZ*
93 TRE BHARAT BENZ 3123 / 2523 STRAIGHT SHORT SEALED TYPE (LH + RH) M30*15 | M24*15 | 41 | PAIR | 2491
9 TRE BHARAT BENZ 3123 / 2523 STRAIGHT SHORT SEALED TYPE (LH) M30*15 | M24*15 | 41 |EACH| 1245
95 TRE BHARAT BENZ 3123 / 2523 STRAIGHT SHORT SEALED TYPE (RH) M30*15 | M24*15 | 41 | EACH| 1245
96 TRE BHARAT BENZ 1617 R STRAIGHT LONG SEALED TYPE (LH + RH) M30*15 | M24*15 | 36 | PAIR | 3084
07 TRE BHARAT BENZ 1617 R STRAIGHT LONG SEALED TYPE (LH) M30*15 | M24*15 | 36 |EACH | 1542
08 JTEUYEEN TR BHARAT BENZ 1617 R STRAIGHT LONG SEALED TYPE (RH) M30*15 | M24*15 | 36 | EACH|1542
FORCE MAN TRUCK*
99 TIE ROD END MAN TRUCK STRAIGHT SEALED TYPE (LH + RH ) M30*15 | M24*15 | 41 | PAIR | 2544
100 TIE ROD END MAN TRUCK STRAIGHT SEALED TYPE (LH) M30*15 | M24*15 | 41 |EACH 1272
101 TIE ROD END MAN TRUCK STRAIGHT SEALED TYPE ( RH M30*15 | M24*15 | 41 |EACH 1272
102 TIE ROD END MAN TRUCK BEND SEALED TYPE (LH -+ RH) M30*15 | M24*15 | 41 | PAR | 2658
103 TIE ROD END MAN TRUCK BEND SEALED TYPE (LH) M30*15 | M24*15 | 41 |EACH | 1328

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality

X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE
HEAVY COMMERCIAL VEHICLES

FORCE MAN TRUCK*

S. NO. | PART NO. DESCRIPTION

104 TIE ROD END MAN TRUCK BEND SEALED TYPE (RH) M30*15 | M24*15 41 |EACH|1328
105 DRAG LINK END FOR BEND TYPE TRE M30*15 | M24*15 | 41 | PAIR | 2508
106 GEAR SHIFTER END INNER THREAD (RH) M12*175 M12°1.25 17 EACH 264
107 GEAR SHIFTER END INNER THREAD (LH) MI12%175 | M12*1.25| 17 | EACH| 264
COMBINE HARVESTER
108 TIE ROD END HARVESTER SMALL ( M 24*15) PLUG TYPE (RH + LH) M24*15 | M18*15 | 27 | PAIR | 1416
109 TIE ROD END HARVESTER SMALL ( 24°1.5) PLUG TYPE (RH -+ RH) M24*15 | M18*15 | 27 | PAIR | 1416
110 TIE ROD END HARVESTER SMALL (M 24*15) PLUG TYPE (LH + LH) M24*15 | M18*15 27 | PAR | 1416
m TIEROD END THRESHER (M 24*1.5) SEALED TYPE ( RH + RH) M24*15 | M18*15 | 27 | PAR | 1067
112 TIEROD END THRESHER (M 24*15) SEALED TYPE (LH + LH) M24*15 | M18*15 | 27 | PAIR | 1067
113 DRAG LINK END HARVESTER BIG ( M30*15) (RH) M30*15 | M18*15 | 27 |EACH| 968

114 EBYISZ3VE DRAG LINK END HARVESTER BIG (M30*1.5) (LH) M30*15 | M18*1.5 | 27 |EACH| 968

LIGHT COMMERCIAL VEHICLES

TATA*
TATA 407 / TATA 407 TURBO
115 TIEROD END TATA 407 (M18*1.5) SEALED TYPE (RH + LH) M18*15 | M12*1.5 | 19 | PAIR| 870
116  EUESISYN. TIEROD END TATA407 (M 18*1.5) SEALED TYPE (RH + RH) M18*1.5 | M12*1.5 | 19 |PAIR| 870
117 EUESISE I TIEROD END TATA407 (M18*1.5) SEALEDTYPE (LH + LH) M18*15 | M12*1.5 | 19 | PAIR| 870
118 QIEVXGm TIEROD END TATA 407 (M 18*1.5) REPAIRABLE PLUG TYPE (RH + LH) M18*15 | M12*1.5 | 19 | PAIR | 1020
119 EIEISEVI TIEROD OR DRAG LINK REPAIR KIT TATA 407 / TATA 410 PICKUP / TATA 407 TURBO N/A M12*1.5 | 19 | KIT | 538

120 EUESISH TIE ROD END TATA 407 / TATA410 PICK UP (M 24 *1.5) SEALED TYPE (LH + RH) M24*15 | M12*1.5 | 19 | PAIR | 1064
121 ISR TIEROD END TATA 407 / TATA410 PICK UP (M 24 * 1.5) SEALED TYPE (RH + RH) M24*15 | M12*1.5 | 19 | PAIR | 1064
122 QIEISECANM TIE ROD END TATA 407 / TATA410 PICK UP (M 24 * 1.5) SEALED TYPE (LH + LH) M24*1.5 | M12*1.5 | 19 | PAIR | 1064
123 QUSSR TIE ROD END TATA 407 / TATA410 PICK UP (M 24 *1.5) REP PLUG TYPE (LH + RH) M24*15 | M12*1.5 | 19 | PAIR | 1470

124 gIEIR] DRAG LINK ASSEMBLY STRAIGHT BOTH SIDE ADJUSTABLE ( LENGTH 15.5" ) M18*15 | M12*1.5 | 19-19 EACH 1584
VAR M-6003 ) DL ASSY. STRAIGHT BOTH SIDE ADJUSTABLE ( PIPE LENGTH 15.5" ) WITH PLUG TYPEENDS| M18*1.5 | M12*1.5 | 19-19 EACH | 1944
126 QUSSR QI DRAG LINK ASSEMBLY STRAIGHT ( PIPE LENGTH 15.5" ) ONE SIDE FIXED M18*15 | M12*1.5 | 19-19 EACH 1404

127 |[CZ3M TIE ROD END TATA 407 TURBO SEALED TYPE (RH + LH) M20°15 | M12*15 | 19 | PAR | 912
128 |[NCYZYNM TIc ROD ENDS TATA 407 TURBO SEALED TYPE (RH -+ RH) M20°15 | M12*15 | 19 | PAR | 912
129 |[CYZEIN TIc ROD END TATA 407 TURBO SEALED TYPE (LH + LH) M20°15 | M12°15 | 19 | PAR | 912
TIE ROD END TATA 407 TURBO REPAIRABLE PLUG TYPE (RH + LH ) M20*15 | M12*15 | 19 | PAIR | 1254
| TATA 608
131 TIE ROD END TATA 608 SEALED TYPE (RH -+ LH) M20°15 | M14*15 | 22 | PAR| 900
132 TIE ROD END TATA 608 SEALED TYPE (RH -+ RH ) M20°15 | M14*15 | 22 | PAR| 900
133 TIE ROD END TATA 608 SEALED TYPE (LH -+ LH) M20*15 | M14*15 | 22 | PAIR| 900
134 TIE ROD END TATA 608 REPAIRABLE PLUG TYPE (RH + LH) M20*15 | M14*15 | 22 | PAIR | 1188
135 TIE ROD KIT TATA 608 ( FOR REPAIRABLE TYPE ) NA | M14*15 | 22 | KIT | 594
136 DRAG LINK ASSY. ( PIPE LENGTH 135" ) ADJUSTABLE M20*15 | M14*15 | 22-22 | EACH | 1788

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISClalmer pnpTrRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®

mE Kg STEERING & SUSPENSION PARTS _ m .

GENUINE SPARES pignatre o Oualty

X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE
TATA*
TATA 609 / 709 / 909 / 709, 909 EX TURBO

S. NO.| PART NO. DESCRIPTION X Y Z |unir|mRP
137 TIE ROD END 609 /709 SEALED TYPE (RH -+ LH) M20°15 | M16*15 | 24 | PAR | 948
138 TIEROD END 609 /709 SEALED TYPE (RH + RH ) M20*15 | M16*15 | 24 | PAIR| 948
139 TIE ROD END 609 /709 SEALED TYPE (LH -+ LH) M20°15 | M16*15 | 24 | PAR | 948
140 TIE ROD ENDS TATA 709 REPAIRABLE PLUG TYPE M20*15 | M16*15 | 24 | PAIR | 1248
141 TIE ROD KIT TATA 609 NA | M16¥15 | 24 | KIT | 613
142 DL ASSY. TATA 609 /709 TRUCK ( PIPE LENGTH 14.5" ) WITH SEALED TYPE ENDS M20*15 | M14*15 | 22 |EACH 1878
143 DL ASSY. TATA 609 / 709 TRUCK ( PIPE LENGTH 14.5" ) WITH PLUG TYPE ENDS M20*15 | M14*15 | 22 | EACH| 2220
144 DLASSY TATA 609 /709 LPT ( PIPE LENGTH 335") M20%15 | M14*15 | 22 |EACH | 2376
145 DL REPAIR KIT TATA 609 / 709 / SFC / LP TATA TYPE ( SINGLE BALL PIN ) MI4*15 | 22 | KIT | 342
146 [TE0YRWIN DRAG LINK REPAIR KIT TATA 609 /709 / SFC / LP TATA TYPE COMPLETE M20*15 | M14*15 | 22 | KIT | 800

- (1PCM-5004 K + 1 PCM-6050 A TRE SEALED TYPE )

147 GEAR SHIFT END TATA 709 /609 INNER THREAD (LH -+ RH ) M1251.25| M10<1 | 17 | PAIR| 488
148 TESVATIM TRET-709 EX TURBO /T-909 EXTURBO (LH + RH) M22*15 | M16*15 | 24 | PAR | 1018
149 [TESVXOMM DLA STRAIGHT TATA SFC 909 E / 38 TURBO EXBS 2 ( PIPE LENGTH 135" M20*15 | M14*15 | 22-22 EACH 2184
TATA 712 N/M |

150 TIEROD END TATAT12 (RH + LH) M24*15 | M16*15 | 24 | PAIR | 560
TATA ACE / TATA ACE MAGIC |

151 TIE ROD END TATA ACE (RH -+ LH) M14*15 | M12€15 | 17 | PAR | 560
152 TIE ROD END TATA ACE (RH + RH ) M14*15 | M12°15 | 17 | PAIR| 560
153 TIE ROD ASSY. TATA ACE ( PIPE LENGTH 395" ) M14*15 | M12*15 | 17-17 EACH | 1781
154 GEAR SHIFT END TATA ACE / TATA 709,/ TC INNER THREAD ( STEEL BODY ) (RH) M12*1.25 M10*1.0 17 EACH| 244
155 DRAG LINK ASSY. TATA ACE ( COMPLETE ) ( PIPE LENGTH 255" ) M14*15 | M12*15 | 17 |EACH|1272
156 TIE ROD END TATA ACE MAGIC ( LONG THREAD ) (LH + RH ) M14*15 | M12*15 | 17 | PARR| 575
157 ACCELERATOR END ( ALUMINIUM ) M8*1.25 | M8*125 | 13 |EACH| 168

TATA ACE MEGA ( DICOR ENG. )

W TRE TATA ACE MEGA M18*15 | M12*15 | 19 | PAR | 775
159 DRAG LINK END TATA ACE MEGA M18*15 | M12°15 | 19 | PAR | 775
160 DRAG LINK ASSY. TATA ACE MEGA M18*15 | M12*15 | 19-19 EACH | 1875
161 TIE ROD ASSY. TATA ACE MEGA MI18*15 | M12€15 | 19 |EACH| 2335

TATA VENTURE / SUPER ACE
162 TIE ROD END INNER THREAD ( SONA TYPE) M14*15 | M12*125 17 |PAR| 818
163 RACK END ( SONA TYPE ) M14*15 PAIR | 587
164 SUSPENSION BALL JOINT  SONA TYPE) M14*15 | 22 EACH 527
165 TRE OUTER THREAD ( RANE TYPE M12*15 | M12*1.25| 19 | PAR | 587
166 RACK END ( RANE TYPE) M1271.25 EACH| 427

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




Signature of Quality

IMEKD

STEERING & SUSPENSION PARTS
GENUINE SPARES

X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE

LIGHT COMMERCIAL VEHICLES
TATA*

TATA IRIS / ZIP ( MINI TRUCK)

S. NO. | PART NO. DESCRIPTION X Y Z |unr|mRe
167 [[RTAI TIE ROD END TATA IRIS M12°1.25 M12*15 | 17 |PAR | 538
168 RACK END INNER THREAD OLD MODEL M12*15 EACH | 397
169 RACK END IRIS N/M OUTER THREAD ( SONA TYPE ) EACH | 397
170 [RAARGEN BALLIOINT (RH + LH) SET | 696

LEYLAND*

LEYLAND DOST
171 TIE ROD END LEY DOST MANUAL STEERING ( BIG AND SMALL ) { LH + RH) M14*15 | M12*15 | 17 |PAR| 680
172 TIE ROD END LEY DOST POWER STEERING ( INNER THREAD ) M14*15 PAIR | 890
173 DRAG LINK END LEY DOST MANUAL STEERING ( LH + RH ) M14*15 | M12°1.25| 17 | PAR | 630
174 DRAG LINK END LEY DOST MANUAL STEERING ( LH + LH ) M14*15 | M12%1.25 17 | PAR| 630
175 DRAG LINK END LEY DOST MANUAL STEERING ( RH + RH) M14*15 | M12*125 17 | PAR | 630
176 RACK END LEY DOST POWER STEERING M16*15 | M14*15 | 22 |EACH| 673
177 BALL JOINT UPPER ( MECH. & P/S ) (3 HOLE TYPE) M12*125 17 |EACH| 528
178 BALL JOINT LOWER ( MECH. & P/S) MI18*15 | 19 |EACH 684

LEYLAND PARTNER
179 |ERREI e RoD END LEVLAND PARTNER M24*15 | M16*15 | 24 | PAR | 1144
LEYLAND BOSS |

TIE ROD END LEYLAND BOSS M30*15 | M18*15 | 27 | PAIR | 4165
181 DRAG LINK END LEYLAND BOSS M30*15 | M18*15 | 27 |EACH| 606

| SWARAJ MAZDA |
182 TIE ROD END O/M (FIX TYPE ) M18*1.5 | M16*15 | 24 | PAIR | 1020
183 TIE ROD END SWARAJ MAZDA N/M ( ADJUSTABLE TYPE M18*15 | M16*15 | 24 | PAIR | 1322
184 TIE ROD REPAIR KIT SWARAJ MAZDA N/M M16*15 | 24 | KIT | 666
185 DRAG LINK KT SWARAJ MAZDA WITH BOOT M16*15 | 24 | KIT | 726
186 GEAR SHIFTER END SWARAJ MAZDA ( LH) EACH| 185
167 |TIOTAF GEAR SHIFTER END SWARA MAZDA (RH ) EACH | 185

EICHER CANTER (10.50 TO 10.95) / CANTER 11.10*
188 TIE ROD END MITSUBISHI CANTER SEALED TYPE M20*15 | M14*15 | 22 | PAR | 1014
189 TIE ROD END N/M ADJUSTABLE CANTER 10.50T0 10.95 (RH + LH) M20*15 | M14*15 | 22 | PAR | 1291
190 TIE ROD END N/M ADJUSTABLE CANTER 105070 10.95 (RH + RH) M20*15 | M14*15 | 22 | PAR | 129]
191 TIE ROD END EICHER CANTER PRO 10.80 M24*15 | M14*15 | 22 | PAR | 1314
192 TIE ROD REPAIR KIT EICHER CANTER N/M M14*15 | 22 | KIT | 606
193 GEAR SHIFTER END RH ONLY CANTER 10.50T0 1095 M10*1.25 M8*125 | 13 |EACH| 121
194 TIE ROD END EICHER CANTER 11.10 M20*15 | M18*15 | 27 | PAR | 1291
195 [UWAELY NI TIE ROD KIT / DRAG LINK KIT EICHER CANTER 11.10 MI8*15 | 27 | KIT | 619
MAHINDRA ALLWYN NISSAN ( CABSTAR )*
19% TIE ROD END ALLWYN NISSAN M22°15 | M14*15 | 22 |paR| 936

AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.

m *Disclaimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES




®

mE Kg STEERING & SUSPENSION PARTS _ m .

GENUINE SPARES pignatre o Oualty

X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE
MAHINDRA*
MAHINDRA JEEP / ARMADA / MARSHAL / UTILITY / PICK UP / COMMANDER / MAX / MARSHAL TURBO

S. NO.| PART NO. DESCRIPTION X Y Z |unir|mRP
197 TIE ROD END JEEP WILLYS (TS 64 ) 11/16181PI | 1/2°*20TP1| 19 | PAIR | 606
198 TIE ROD END JEEP WILLYS (TS 140 ) TIA6™18T1 | 1/220TPI| 19 | PAIR | 666
199 TRE MAHIDRA JEEP (1 BIG -+ 3 SMALL ) SET OF 4 TI/16™18TP1 | 1/2*20TPI| 19 | 4PCS| 1266
200 TRE ARMADA/ MARSHAL / PICK UP / UTILITY / COMMANDER / MAX (SMALL SET) WB1s | M12*15 | 19 | PAR | 828
201 TRE ARMADA / MARSHAL / PICK UP / UTILITY / COMMANDER / MAX (BIG SET) WEIS | M12°15 | 19 | PAR | 984
202 TRE ARMADA / MARSHAL / PICK UP / UTILITIY (1 BIG + 3SMALL) BIGPCEXTRALONG | MI8*15 | M12*15 | 19 |4PCS| 1788
203 [TRITTXGM BALL JOINT UPPER MARSHAL / ARMADA / PICK UP / UTILITY / COMMANDER / MAX MI18*15 | 36 |EACH 550

- (HOLE IN BALL PIN)
204 BALL JOINT LOWER MARSHAL / ARMADA / PICK UP / UTILITY / COMMANDER / MAX M18*15 | 27 |EACH| 550
205 BALL JOINT KIT PICK UP / UTILITY / MARSHAL (2 PCS B.J. UPPER + 2 PCS B, LOWER) M18*15 | 36,27 4PCS| 2190
206 STABILIZER LINK MARSHAL / ARMADA / PICK UP / UTILITY / COMMANDER / MAX EACH| 270
207 TIE ROD END MARSHAL TURBO / PICK UP TURBO (SMALL) W815 | M12€15 | 19 | PAIR | 690
208 TIE ROD END MARSHAL TURBO / PICK UP TURBO (BIG) N015 | MI12415 | 19 | PAIR| 890
209 TIE ROD END KIT MARSHAL TURBO / PICK UP TURBO ( BIG + SMALL ) NO/MIB*15| M12*15 | 19 |4PCS| 1400
MAHINDRA BOLERO

- 210 [[IRRTZII T RODEND (MANUAL STEERING) INNER THREAD RHT M18*15 | M12°15 | 19 [PAR| 820
2 RACK END MAHINDRA BOLERO / SCORPIO EACH | 535
N BALL JOINT UPPER M16*15 | 24 |EACH | 690
23 BALL JOINT LOWER MI4*15 | 22 | EACH| 655
214 SUSPENSION KIT ( 2 PCS B/J UPPER -+ 2 PCS B/J LOWER) 224 | 4PCS| 2670
215 STABILIZER LINK M10%1.25| M12*15 | 19 |EACH| 475
216 TIE ROD END BOLERO SPORT GLX POWER STEERING INNER THREAD M 14 *15 ) MI8*15 | MI2*15 | 19 |PAIR | 983
217 [[EEZXTIB TR RoD END MAHINDRA BOLERO MAXI TRUCK ( SET OF 4) M20/ | M12*15 | 19 |4PCS| 1790

J (M20*15 1PCRHBIG + 1PCRHSMALL) + (M18*15 1PCRH + 1PCLH) M18*15

| MAHINDRA TOURISTER
218 |[TCRTIR TIE ROD END 15/25/32/40 SEATER (RH + LH) M22°15 | M14*15 | 22 |PAR | 1020
219 TIE ROD ASSY 15/25/32/40 SEATER (PL.51", DIA 35 MM) M2215 | M14*15 | 22 |EACH | 3275
20 DRAG LINK ASSEMBLY TOURISTER 32 SEATER (PL.25 ", DIA 32 MM) M16*15 | 24 | EACH | 2400
21 DRAG LINK ASSEMBLY TOURISTER 15/25 SEATER, BEND TYPE, BOTH SIDE FIXED ( PL. 22") M16*15 | 24 |EACH| 2187
222 DRAG LINK REPAIR KIT 15/25 SEATER M16*15 | 24 | KIT | 509
203 GEAR SHIFT END ( RH ) M10*1.25 M8*1.25 | 13 |EACH| 179
224 GEAR SHIFT END ( LH ) M10*1.25 M8*125 13 EACH| 179

MAHINDRA MAXIMO O/M / SUPRO MINI TRUCK / MAXIMO N/M

225 |[RTEIR TIE RoD END MAXINO O/M / MAXINO N/M M14°15 | M12*15 | 19 | PAIR | 765
226 BALL JOINT O/M M12°15 | 19 | PC | 385
27 BALL JOINT N/M (3 HOLETYPE) (SETOF2) SET | 880

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z- SPANNER SIZE

JEEP / MULTI UTILITY VEHICLES AND PASSENGER CARS

MAHINDRA*
MAHINDRA JEETO
s. NO.| PART NO. DESCRIPTION X Y | z |unm|mre
228 TIE ROD END M12°1.25 M12°125 17 PAR | 550
229 BALL JOINT EACH | 850
230 RACK END EACH | 450
231 STABILIZER LINK EACH | 840
| MAHINDRA SCORPIO
230 |[RIEII I RoD END INNER THREAD M14*15 M141.25| 19 |PAR | 720
233 BALL JOINT UPPER M16*15 | 24 EACH| 615
234 BALL JOINT LOWER M16*15 | 24 |EACH 730
235 STABLIZER LINK CRDI N/M LH /RH M12°15 | 19 | PAIR | 849
236 STABILIZER LINK OLD M10%1.25 M12*125| 19 | PAR| 770
RACK END SCORPIO / BOLERO / QUALIS EACH | 545
| MAHINDRA XYLO / GENIO
238 TIE ROD END INNER THREAD XYLO M14*15 [M12+125) 17 | PAR | 790
239 RACK END / TIE ROD M14*15 EACH | 570
240 SUSPENSION BALL JOINT LOWER MI6*15 | 24 EACH 710
241 STABILIZER LINK M12*15 | 19 | PAR | 745
| MATADOR MAX / TRAX / JUDO GAMA
247 |[EVZI e ro EnD M16*15 | M14*15 | 22 | PAR | 650
23 WHEEL JOINT (ONE PC) HEAVY DUTY (38 HEAD ) M16*15 | 24 |EACH| 490
244 CONNECTING LINK ASSY ( PIPE LENGTH 16.5") M16*15 | M14*15 | 22 |EACH | 1280
25 TRACK ROD ASSY PIPE LENGTH 85" M16*15 | M14*15 | 22 |EACH | 1130
246 DRAG LINK ASSY JUDO GAMA SMALL ( PIPE LENGTH 45" M16*15 | M14*15 | 22 |EACH | 1780
| CONNECTING LINK END RH M16*15 | M14*15 | 22 |EACH 455
TEMPO TRAX
I v-s09F EECED M16*15 | M14*15 | 22 | PAR | 605
249 CONNECTING LINK ASSY ( PIPE LENGTH 17") EACH | 1250
250 DRAG LINK ASSY TEMPO TRAX  PIPE LENGTH 185" EACH | 2950
| WHEEL JOINT (SINGLE PC) M16*15 EACH 495
TEMPO TRAVELLER
- 252 |[RIUZT@ TIE ROD END TEMPO TRAVELLER M20*15 | M14*15 | 22 | PAR| 920
253 DRAG LINK ASSY TEMPO TRAVELLER ( PIPE LENGTH 17" M20*15 | M14*15 | 22-22 |EACH | 1540
TIE ROD ASSY TEMPQ TRAVELLER ( PIPE LENGTH 50.5' ) M20*15 | M14*15 | 22-22 | EACH | 3390
| TATA*
TATA 207 DI / TATA 207 DI RX
255 TRE TATA 207 DI O/M ( BEND TYPE) (RH) M18*15 | M12*15 | 19 | PAIR | 1250
256 TRE TATA 207 DI RX N/M ( BEND TYPE) M20*15 | M12°15 | 19 | PARR | 1265
257 DLE TATA 207 DI / TATA 207 DI RX ( STRAIGHT) M18*15 | M1215 | 19 | PAIR | 865

1 1 *D isclaimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISC AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS _ m .
GENUINE SPARES e —
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE
TATA*
TATA SUMO, MOBILE 206, 206 DI, 207, SIERRA, ESTATE, SPACIO
S. NO.| PART NO. DESCRIPTION X Y | z |unm|mRe
258 TIE ROD END TATA SUMO / MOBILE 206 ( RHT, LHT) M16*15 | M12<15 | 19 |PAIR | 870
259 TIE ROD END TATA SUMO / MOBILE 206 (RHT ) M16*15 | M12*15 | 19 | PAR | 870
260 BALL JOINT LOWER TATA 206 / TATA 207 / SUMO / SPACIO M18*15 | 27 |EACH| 595
21 BALL JOINT UPPER TATA 206 /TATA 207 / SUMO / SPACIO M16*15 | 24 EACH| 697
262 CENTER LINK ASSY. TATA SUMO FIXED TYPE EACH | 1581
263 TIE ROD ASSEMBLY TATA SUMO / MOBILE 206 (PIPE LENGTH 11" M16*15 | M12*15 | 19-19 EACH | 1155
264 SUSPENSION KIT TATA SUMO ( 2 PCS UPPER B/) + 2 PCS LOWERB/J) KIT | 2455
TATA SUMO VICTA
265 TIE ROD END (RH -+ LH) TATA SUMO VICTA M16*15 | M1215 | 19 | PAIR | 1030
266 TIE ROD ASSY TATA SUMO VICTA 19-19 | EACH | 1410
CENTER LINK ASSY. TATA SUMO VICTA FIXED TYPE EACH | 1490
| TATA SUMO GOLD
- 268 |[KICZBM TRE INNER THREAD TATA SUMO GOLD M16*15 | M12<15 | 19 | PAR| 910
269 [TUCATTUNI RACK END TATA SUMO GOLD M16*15 | M16*15 EACH 610
TATA SAFARI
270 |[TRZVZIM TR\ RADIAL TYPE SHANK M 1615 (LH) M16*15 | M12*15 | 19 | PAIR | 1295
27 TRE RADIAL TYPE SHANK M 16 * 15 (RH ) M16*15 | M12*15 | 19 | PAIR | 1295
72 BALL JOINT LOWER M16*15 EACH | 897
273 BALL JOINT UPPER M16*15 EACH | 705
TATA XENON
274 TIE ROD END M16*15 | M12°15 | 19 | PAIR | 1020
275 BALL JOINT LOWER M16*15 | 24 |EACH | 897
BALL JOINT UPPER M16*15 | 24 |EACH 705
| TATA INDICA
277 TIE ROD END INDICA M12*1.25 M12125] 17 |PAR| 585
278 RACK END TATA INDICA (MANUAL STRG,) M14*15  M12°1.25 14 | EACH | 395
279 BALL JOINT INDICA (MECHANICAL STRG,) EACH| 425
280 SUSPENSION KIT MECH. (2PCS TRE -+ 2PCS BJ + 2PCS RE) 6PCS| 2670
281 TIE ROD END INDICA POWER STEERING PAIR = 590
282 RACK END INDICA POWER STEERING M14*15 | M12°1.25 EACH | 430
283 BALL JOINT (RHS) INDICA POWER STEERING EACH| 425
284 BALL JOINT (LHS) INDICA POWER STEERING EACH| 425
285 SUSPENSION KIT TATA INDICA P/S (2PCS TRE + 2PCS BJ -+ 2PCS RE) 6 PCS| 2745
TATA INDIGO
286 TIE ROD END M12*125 M12*125) 17 |PAR| 560
287 BALL JOINT EACH | 550
288 RACK END EACH | 580

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




GENUINE SPARES

mE Kg® STEERING & SUSPENSION PARTS

X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE

JEEP / MULTI UTILITY VEHICLES AND PASSENGER CARS
TATA*

Signature of Quality

TATA WINGER
S. NO.| PART NO. DESCRIPTION X Y Z |unir|mRP
Y.V M-7030 TIE ROD END INNER THREAD M14*15 | M10*125| 17 |PAIR | 870
290 TROEIYNM RACK END M16*15 M14*125 15 |EACH| 595
291 RIEI saLLjonT M16*175 EACH| 560
CHEVORLET TAVERA*
292 TIE ROD END INNER THREAD M14*15 | M14*15 | 22 |PAR| 745
293 TWEEFN BALLJOINT UPPER SMALL 72 EACH| 650
BALL JOINT LOWER BIG 277 |EACH| 880
| TOYOTA INNOVA
295 TIE ROD END INNER THREAD M15*15 | M12*125| 17 | PAIR | 840
296 [JTWITTN BALLJOINT LOWER M14*15 EACH| 780
297 WARTE:IM BALLJOINT UPPER M16*15 EACH | 735
298 NI RACK END M14*15 | MI5*15 | 14 |EACH| 595
STABILIZER LINK ( FRONT / REAR) M12*15 EACH | 345
| TOYOTA QUALIS
300 TIE ROD END INNER THREAD M14*15 | M12*125| 17 |PAIR | 820
301 [WOLZFN BALLJOINT LOWER BIG MI6¥15 | 24 |EACH 740
302 WAL BALLJOINT UPPER SMALL M14*15 | 22 EACH| 590
303 O XSM RACK END M14*15 | M14*15 | 14 |EACH| 520
MARUTI*
MARUTI GYPSY
304 TIE ROD END GYPSY SINGLE PC. EACH| 525
305 UMM TIE ROD ASSY GYPSY WIDE (TOTAL LENGTH 46.5" ) M12*15 | 19 |EACH 1690
DRAG LINK ASSY GYPSY WIDE (TOTAL LENGTH 31" MI12<15 | 19 |EACH 1010
| MARUTI 800 N/M
307 TIE ROD END MARUTI 800 (N\M) M1241.25| M1251.25| 17 | PAIR| 538
308 [TWVLYNRM RACK END MARUTI 800 N/M M14*15 | M12*1.25 EACH 360
309 [WIRIVALI SUSPENSION ARM MARUTI 800 CAR N/M EACH 650
310 [TTRLVAXGR SUSPENSION KIT N/M (2PCS TCA + 2PCS RE -+ 2PCS TRE) serors, 2940
MARUTI VAN 800 / OMNI
3 TIE ROD END M14<15  M12*125 17 |PAR| 560
312 TIE ROD ASSY.PL. 21" EACH| 910
313 DRAG LINK ASSY PL.115' M12*1.25 17 [EACH 895
314 TRACK CONTROL ARM M1271.25 17 |EACH| 720
315 [ORAVAINI SUSPENSION KIT (2 PCS TCA + 4 PCS TRE ) (SET OF ) SET | 3555
MARUTI VERSA / EECO
316 JTIQIYS TiE ROD END INNER THREAD M1251.25 | M12%1.25| 17 | PAIR | 995
317 RACK END EACH| 510
318 TRACK CONTROL ARM LHS M12*15 | 19 EACH 1120
319 TRACK CONTROL ARM RHS M12*15 | 19 | EACH 1120

T

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISClalmer pnpTrRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS _ m .
GENUINE SPARES —
X - TIE ROD END THREAD SIZE | Y - BALL PIN THREAD SIZE | Z - SPANNER SIZE
MARUTI*
MARUTI ZEN / ALTO / WAGON R
S. NO.| PART NO. DESCRIPTION X Y | z |unm|mre
320 TIE ROD END MARUTI ZEN / ALTO / WAGON R M12°1.25 M12*125 17 | PAR | 580
321 RACK END MARUTI ZEN / ALTO / WAGON R M14*15  M12°1.25 14 | EACH 485
30 TRACK CONTROL ARM MARUTI ZEN / ALTO EACH| 695
323 SUSPENSION KIT ( 2PCS TCA -+ 2PCS RE -+ 2PCS TRE ) MARUTI ZEN / ALTO seror 6| 3350
34 TRACK CONTROL ARM WAGON R EACH| 705
325 SUSPENSION KIT { 2PCS TCA -+ 2PCS RE -+ 2PCS TRE ) WAGON R (SET OF ¢ SET | 3370
MARUTI 1000 CC / ESTEEM
326 TIE ROD END PAIR | 695
377 RACK END MECHANICAL EACH | 445
328 RACK END POWER STEERING TYPE1 (14*15) EACH | 488
329 RACK END POWER STEERING TYPE1 (17*15) EACH | 488
330 STABILIZER LINK EACH | 450
MARUTI SWIFT
31 TIE ROD END RHT INNER THREAD M12*1.25 | M12°1.25| 17 [PAR| 790
332 RACK END M18*1.5 | M12125| 15 |EACH| 510
333 BALL JOINT EACH | 460
334 STABILIZER LINK PAIR | 1010
MARUTI SWIFT N/M
TIE ROD END BEND TYPE RHT INNER THREAD M14*15 | M12°1.25| 17 | PAIR | 1090
M-7031A RICEE) EACH| 510
M-7031B ARy EACH| 455
RSN srasiLizeR Lin PAIR | 910
HYUNDAI SANTRO*
TIE ROD END INNER THREAD M12°1.25 M10*1.25| 17 |PAIR | 760
TN BALLIOINT M12°1.25| 17 |EACH 280
TWATTEI RACK END HYUNDAI SANTRO M14*1.25 M12*1.25| 17 |EACH| 530
[TWATTYG TRACK CONTROL ARM LHS EACH | 1530
[[RIZEYI  TRACK CONTROL ARM RHS EACH | 1530
HYUNDAI VERNA
34 RACK END EACH| 515
LI 6046 F TIE ROD END PAIR | 1030
346 [UTTR BeLLionT EACH | 525
347 |OTVRTHR STABILIZER LINK L /RH M10T1.25 | 7 SET | 855
AMBASSADOR / NOVA*
348 TIE ROD END ANBASSADOR ALL MODELS 11N6*18TP1 171600 | 17 | PAR | 599
349 |TIVEYNI i RoD ASSY AMBASSADOR AL MODELS EACH | 580
350 |[TNYERRN TIc ROD END AMBASSADOR NOVA INNER THREAD 412 | W12°175 | 19 | PAIR | 640
351 [[INTETN TIE ROD ASSEMBLY NOVA EACH | 595
352 |[INAYELIR 7ic ROD ASSY AMBASSADOR NOVA LATEST MODEL LONG EACH | 575

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




mE Kg® STEERING & SUSPENSION PARTS

GENUINE SPARES

TRACTOR SECTION
(FOR PICTURES ASK US FOR OUR PDF FILE)

Signature of Quality

MAHINDRA & MAHINDRA

S.NO.| PART NO. DESCRIPTION UNIT | MRP
353 TRE REAR INTERNATIONAL B-275 / 434 O/M PAIR 789
354 TRE FRONT INTERNATIONAL (B-275/434) EACH
355 TRACK ROD SMALL INTERNATIONAL (B-275/434) EACH 838
356 TRE MAHINDRA D.1. N/M REAR + FRONT ( RH + LH SET OF 4
357 TRE MAHINDRA D.1. N/M FRONT (RH + LH) PAIR
358 TRE MAHINDRA D.I. N/M REAR (RH -+ LH) PAIR 771
359 TRE FRONT INTL. 575 D1 BIG EACH
360 TRE REAR INTL. 575 DI, (LH -+ RH ) PAIR 771
361 TRACK ROD SMALL INTL. 575 D.. EACH
362 TRE REAR MAHINDRA ARJUN 605 D.I. (LH -+ RH) ( M 24 * 1.5 ) { GREASELESS) T3 9 |
363 TRE FRONT MAHINDRA ARJUN 605 D.I. (LH -+ RH) M 24 * 1.5 ) { GREASELESS) PR [EEH
364 TRE REAR MAHINDRA ARJUN 605 D.. P/S  GREASELESS) ( BIG BALL PIN ) PAIR
365 TRE FRONT MAHINDRA ARJUN 605 D.I. P/S ( GREASELESS) ( BIG BALL PIN ) PAIR 1112
366 TRE MAHINDRA ARJUN 3 BOLT / HOLE 30 MM EACH
367 BALL JOINT ASSY. { CYL. END ) MAHINDRA ARJUN P/S (30 * 1.5 RH /20 1.5 RH) I %
368 TRE MAHINDRA MKM ( LONG BALL PIN) SeToF2  RTEY,
369 TRE MAHINDRA MKM P/S / MAH ARJUN 45 /553 (M 24 *15) LS 1066 |
370 BALL JOINT MAHINDRA MKM P/ I % |
371 TRA MAHINDRA MKM P/S EACH
372 TRA MAHINDRA CE MODEL ( END + BALL JOINT ) EACH
373 CYL. BALL JOINT ASSY. MAHINDRA ARJUN CE (20 * 1.5RH /18 * 1.5 RH ) EACH 1112
374 TRE MAHINDRA TURBO / ARJUN 445 SET OF 2
375 TRA MAHINDRA ARJUN P/S 3 HOLE I 2919
376 TRA MAHINDRA ARJUN P/S 2 HOLE EACH
377 TRE MAHINDRA ARJUN NOVO EACH
378 BALL JOINT MAHINDRA NOVO e [
379 TRA MAHINDRA NOVO EACH
380 TRE 235 AIR FLOW D../ YUVRAJ NI 1211
381 TRE MAHINDRA YUVO / DHRUV EACH
382 TRA MAHINDRA YUVO / DHRUV EACH
ECER M-9039 B BALL JOINT MAHINDRA YUVO / DHRUY EACH 863

SWARAJ
E7l M-8011 TRE ( REAR + FRONT ) SWARAJ 724, 735 DT 1167
385 TRE REAR SWARAJ 724, 735 PAIR
386 TRE FRONT SWARAJ 724,735 PAIR
387 TRE  REAR -+ FRONT ) SWARAJ 855 / SWARAJ 855 N/M /724 FE /735 FE _( HEAVY BODY ) NIl Tl 1540
388 TRE REAR SWARAJ 855 / SWARAJ 855 N/M / 724 FE /735 FE( HEAVY BODY ) PAIR
389 TRE FRONT SWARAJ 855 / SWARAJ 855 N/M /724 FE /735 FE( HEAVY BODY ) PAIR
390 TRE SWARAJ P/S 6764 ( LH + RH ) SET OF 2
391 TRACK ROD SWARAJ P/S 4 CUT TYPE EACH
392 TRK / DLK SWARAJ P/S KIT 16
393 TIE ROD ASSY SWARAJ POWER STEERING EACH

MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES

Frm e .
m Disclaimer pypTracToRs WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality

TRACTOR SECTION

(FOR PICTURES ASK US FOR OUR PDF FILE)

MASSEY FERGUSON
s.voJ PaRTNO. | DEscReTIoN | UNT

394
395
396

M-8001 TRE ( REAR + FRONT) M/F P3/1035 serors BRES
M-8001 B TRE REAR M/F P3 /1035 PAIR 3

M-8001 A TRE FRONT M/F P3 /1035 PAIR 572

~
o O

|

Mo0ig

MB00IA
397 TRE ( REAR - FRONT ) M/F D.. SERIES ALL MODELS SET OF 4
39 TRE REAR M/F D.. SERIES ALL MODELS PAIR
399 TRE FRONT N/F D.. SERIES ALL MODELS I 572
400 TRE (REAR -+ FRONT ) MASSY MAHAN / W/F 5245 /135 SET OF 4
401 TRE REAR MASSEY MAHAN / W/F 5245 /135 PAIR
402 TRE FRONT MASSEY MAHAN / MJF 5245 / 135 I 1205
403 TRE REAR MAHASHAKTI M/F D.. PAIR
404 TRE FRONT MAHASHAKTI NJF D.. PAIR
405 TRE M/F D 9000 PLANETARY DRIVE P/S I 1112
406 COMPLETE ASSY.TAFE 9000 SET
407 TRE REAR MASSEY 7250 (ONE STRAIGHT -+ ONE BEND TYPE WITH NUT ) (RH -+ LH) PAIR 857
408 TRE FRONT MASSEY 7250 (STRAIGHT WITH NUTS ) (RH -+ LH) PAIR

| FORD / FARMTRAC / NEW HOLLAND
409 TRE (REAR + FRONT ) FORD 3000/3600/3610 SET OF 4
410 TRE REAR FORD 3000 /3600 /3610 PAIR 739
41 TRE FRONT FORD 300 /3600 /3610 PAIR
a2 TRE ( REAR -+ FRONT ) FORD 3620/ FARMTRAC- 60 NIl 1646
E TRE REAR FORD 3620 / FARMTRAC- 60 (LH + LH) PAIR
414 TRE FRONT FORD 3620 / FARMTRAC- 60 RH + RH) PAIR
415 TRE REAR NEW HOLAND FORD 3630 /3230 (M20* 15) (LH + RH) PAIR 888
116 TRE FRONT FORD NEW HOLLAND 3230 THICK THREAD ( M124 1.5 INGLE PC EACH
417 TRACK ROD NEW HOLLAND SMALL ADJUSTABLE I 98 |
TR M-8034 A TRACK ROD NEW HOLLAND FIXED LONG EACH
ZETOR

119 TRE (REAR -+ FRONT ) ZETOR 2011, 3011, 2511, 3511, 2522, 3522, 4522 SET OF 4
420 TRE REAR ZETOR 2011, 3011, 2511, 3511, 2522, 3522, 4522 AR [T
42 TRE FRONT ZETOR 2011, 3011, 2511, 3511, 2522, 3522, 452 PAIR
422 TRE REAR ZETOR 2522, 3522, 4522 O DESIGN PAIR
123 TRE FRONT ZETOR 2522, 3522, 4522 O.E. DESIGN I 77
42 TRE REAR ZETOR 5511, 5711, 5911 N/ PAIR
425 TRE FRONT ZETOR 511, 5711, 5911 N/M PAIR
426 TRE REAR HIIT 4522/ 5911 N/M OE. DESIGN U 900 |
427 TRE FRONT HIT 4522 /5911 N/M OE. DESIGN G 900 |
428 TRE ASSY.ZETOR P/S e [
429 TRE ZETOR P/S THREAD TYPE 1PC
430 BALL JOINT ZETOR P/S e N

*pisclai MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
IScClalmer pnpTrACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality

TRACTOR SECTION

(FOR PICTURES ASK US FOR OUR PDF FILE)
SONALIKA

[s.NO.| PART NO. DESCRIPTION UNIT

'KI 8032 TRE ( REAR -+ FRONT ) SONALIKA INTL. SET OF 4

L7 M-8032 B TRE REAR SONALIKA INTL. PAIR

LSS M-8032 A TRE FRONT SONALIKA INTL. PAIR

~
—_

~
~
—_

MB0:A |
434 TRE SONALIKA INTL. 45/50 HP P/S PAIR
435 TRE SONALIKA 60 HP P/S BIG (26 MM ) U 1969 |
136 BALL JOINT ASSY.  CYL. END ) SONALIKA P/S 60 HP eac D
437 TRE SONALIKA P/S 3 HOLE TYPE EACH
43 TRE SONALIKA 3 CUT TYPE (245 MM ( ADJUSTABLE TYPE ) I % |
439 TRE SONALIKA 3 CUT TYPE (26 MM ) ( ADJUSTABLE TYPE e AN
440 TRE SONALIKA 3 CUT TYPE (28 MM ) ( ADJUSTABLE TYPE TG 98 |
I TRE SONALIKA 3 CUT TYPE (245 M) ( SEALED TYPE O 99 |
4“2 TRE SONALIKA 3 CUTTYPE (26 MM ) ( SEALED TYPE e [EEN
443 TRE SONALIKA 3 CUT TYPE (28 MM ) ( SEALED TYPE O 919 |
444 TRK SONALIKA P/S 28 M KIT 367
445 BALL JOINTS SET 2 INNER AND 2 OUTER SONALIKA SET OF 4
446 BALL JOINT ASSY SONALIKA LOADER 1PC
447 COMPLETE ASSY. WITH BALL JOINT SONALIKA LOADER T JRIGY
448 TIE ROD ASSY SONALIKA P/S 8325 BB THREAD TYPE END WITH BALL JOINT SET
TIE ROD ASSY. SONALIKA P/S 9227 BE CLAMP TYPE END WITH BALL JOINT SET
| EICHER
450 TRE REAR EICHER N/M (24 15) PAIR
1 TRE FRONT EICHER N/M (M 24 *15) PAIR
452 TRE ( REAR + FRONT ) EICHER GOODEARTH / 364 NC O/M / 242 NC T 1143 |
453 TRE REAR EICHER GOODEARTH / 364 NC O/M / 242 NC PAIR
454 TRE FRONT EICHER GOODEARTH / 364 NC O/M / 242 NC PAIR
455 TRE EICHER 380 ( LH -+ RH ) SHORT LENGTH M 18 1.5 L 77
456 TRE EICHER 485 O/M 2 PCS BIG + 2 PCS SHALL ) SET OF 4
457 TRA EICHER P/S 5660 COMPLETE O N0, 93353394 EACH
INDOFARM
459 TRE INDOFARM LH + Ri PAIR
TRK INDOFARIH KIT
| PREET TRACTOR
460 TRE (RH -+ LH) PAIR
SAME GREAVES
41 TRE SAME GREAVES THREAD SIZE 20 * 15 { RH ONLY SET
462 TRE SAME GREAVES THREAD SIZE 18 * 1.5 (RH + LH) SET 820

17 *D isclaimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
ISC AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg STEERING & SUSPENSION PARTS m

GENUINE SPARES Signature of Quality

TRACTOR SECTION

(FOR PICTURES ASK US FOR OUR PDF FILE)
ESCORT / FARMTRAC / POWER TRAC

s.no| eaRTNO. [ Descremon | Unm |
463 WIEIE] TRE ( REAR + FRONT) ESCORT 335 /330 SETOF 4 1167
L M-8013 B TRE REAR ESCORT 335/ 330 PAIR 58
465 QIEIEY TRE FRONT ESCORT 335/ 330 PAIR 584

!

[EUEN

013

MB013A |
466 TRE (REAR -+ FRONT ) ESCORT 355 /340 / 345 / POWERTRAC 40/ 439/ 435 SET OF 4
467 TRE REAR ESCORT 355 / 340, 345 / POWERTRAC 440/ 439 / 435 PAIR
468 TRE FRONT ESCORT 355 / 340 /345 / POWERTRAC 440 /439 / 435 I 77
469 TRE ESCORT P/S RH/439 PAIR
470 TRE POWERTRAC 439 ( LONG BALLPIN ) (LH + RH ) PAIR 838
47 CYL. ASSY. COMPLETE ESCORT P/S N/M (WITH ADAPTOR, TRE OUTER THREAD ) EacH  [PERD
472 TRACK ROD ESCORT POWERTRAC / FARMTRAC 70 ( 7 HOLE TYPE ) FIXED EACH
473 TRASSY. POWERTRAC/ FARMTRAC70 (7 HOLE ) ADJUSTABLE I 1465
474 TR.E POWERTRAC P/S / FARMTRAC70 (SET OF 3) SET OF 3
475 TRE POWERTRACP/S 2 HOLE TYPE EACH
476 TR E POWERTRAC 2 HOLE N/M e [
477 BALL JOINT POWERTRAC (BOTH SIDEM 18* 15 ) (RH + RH) e [EEH
478 BALL JOINT FARMTRAC / POWERTRAC P/S ( BOTH SIDE M 18 15 ) (LH + RH) IV 99 |
479 TIE ROD ADAPTOR POWERTRAC EACH
480 TRE POWERTRAC 4455 CLAMP TYPE  D10639070.9 e EE
481 TR ASSY. POWERTRAC 4455 SET

HB030K

N (DN
oo

3 M-8030 K COMPLETE ASSY. FARMTRAC THREAD TYPE 104089709 SET
| L & T JOHNDEERE
TXR M-8050 TRE JOHN DEERE 5203 / 35 / 40 HP THICK THREAD 24 * 15 (RH -+ LH) Tl 112
484 TRE JOHN DEERE 5310 (2015 PAIR
485 ASSY.JOHNDEERE 5310 P/S DANA AXLE THREAD TYPE SET
486 ASSY JOHNDEERE 5310 P/S 2 HOLE TYPE NIl 4334
BALL JOINT ASSY JOHNDEERE 5310 P/S 1PC 608
| BAJAJ FORCE TEMPO TRACTOR
JEXIl M-6002 C TRE FORCE BALWAN 2 PCS (18 * 1.5 RH -+ LH) + 1 PC (BIG 24 1.5 RH) Ol 1205
489 TRE FRONT TEMPO BALWAN TRACTOR PAIR
LI M-6002 B TRE REAR TEMPO BALWAN TRACTOR I 502 |
MITSUBISHI TRACTOR
491 TRE MTI-80-D POWER TRILLER INNER THREAD ( LH -+ RH ) PAIR

*Disclaimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




®
mE Kg ASSEMBLIES CENTER BEARING

GENUINE SPARES

Signature of Quality

6211 RS2 6013 RS2 88509 RS2
TATA 1516 /2416 / 3118 / 4018 TATA 1516 /2515 /2518 /3118 / 4018 LEYLAND / TATA 2511/ 2518

M-9505 MRP 1450 M-9514 MRP 1575 M-9513 MRP 1075

88507 RS2 88512/ 6012 RS2 LONG CONE 6211 RS2 BIG SIZE
MAHINDRA BOLERO TATA 2518 / 2516 / 2523 TATA 2518 /3718 /3118
M-9862 MRP 1015 M-9534 MRP 1725 M-9535 MRP 1885

6011 RS2 6008 RSL2 / 7240
EICHER11.10/11.12/11.14/11.16 PRO EICHER CANTER 1059 /1095

M-9658 MRP 1295 M-9671 MRP 1150

19 *Disc'aimer MEKO AUTO COMPONENTS INC. IS ENGAGED IN THE BUSINESS OF AUTOMOTIVE COMPONENTS WHICH ARE COMPATIBLE WITH A WIDE RANGE OF AUTOMOBILES
AND TRACTORS WHOSE NAMES AND O.E. NUMBERS ARE MENTIONED HEREIN FOR REFERENCE PURPOSES ONLY.




IMEKDO

GENUINE SPARES

Signature of Quality

AN IATF 16949:2016 Compliant Co.




IMEKDO

GENUINE SPARES

Signature of Quality

AN IATF 16949:2016 Compliant Co.




IMEKDO

GENUINE SPARES

Signature of Quality

AN IATF 16949:2016 Compliant Co.




www.mekoautoindia.com

Signature of Quality

MEKO AUTO COMPONENTS INC.

ADDRESS : Plot No A-6 Sector A-5/6 Trans Delhi
Signature City (Tronica City), Loni,
Ghaziabad ( Delhi NCR ) UP-201102

Phone : 9810149404

Email : meko@mekoautoindia.com

Website : www.mekoautoindia.com

MMEKO

GENUINE SPARES

AN IATF 16949:2016 Compliant Co.

Warranty

Meko automotive products are manufactured in compliance with all the requirements of IATF 16949:2016 and ISO 9001:2015
quality standards to achieve the supreme performance. The company shall replace the automotive products free of cost provided
the failure is caused due to any manufacturing defect but shall not cover product failure caused by improper installation or

mishandling. This warranty does not cover any incidental or consequential damages to person or property including the cost of any
related parts.




